Geometry - Vectors

Q1
OABC is a parallelogram.

OA=a OC=c
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P is the point on AB such that AP =% AB.

CBQ is a straight line such that CB : BQ =1 :3.

(a) Write down, in terms of a and ¢, the vectors

@) AP,

(aXi) (1]
@) OP,

(ii) (1]
(i) BQ,

(iii) [1]
(v) OQ.

(iv) (1]

(b) Explain, using vectors, why O, P and Q lie on a straight line.
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OAB is a triangle.
04 =a
OB =b
(a) Find the vector AB in terms of a and b.

P is the point on AB such that AP : PB=3:2

(b) Show that OF =§ (2a + 3b)
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PisthepointonABsuchthatKF":j-‘ AB.

CBQ is a straight line such thatCB: BQ=1:3.

(a) Write down, in terms of a and ¢, the vectors

@) AP,
VR
(@)i) 4 (1]
. i —
(i) OP, = OA+ AP
= A+t a + L c
(ii) > [1]
— —
i) BQ, = TCg
= S 07:\7 3 [
wor " iy (i) - [1]
— —-7_ -9 —7
(iv) 0Q. = OC + cB + 8&
Z C 4 a + 3a
e (iv) o (1]

(b) Explain, using vectors, why O, P and Q lie on a straight line. —
0@ = ¢ +4a = 4 (Fc+a)= 4o0f
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OAB is a triangle.

O4 =a

OB =b

(a) Find the vector AB in terms of a and b.

—2 = —
AR = A0 + OK

- — QA +'5 —_ —_— LD
=T AB = 2
1)
P is the point on AB such that AP : PB=3:2
1 — - —
(b) Show that OP = (2a + 3b) Pr= < ARG
s 3 a+bh
 (~528)
— —> -
OP = OA + AP
- G +l(—-a + )
a +3(-arb
= a4 ~-3a+3
4-Faril
= 2 = 4'; L
\Y X -

3
= £(2a+3b) @



